Cuir na huimhreach in ord 6n ceann is [0 go dti an ceann is mo.

Put the numbers in order from the smallest to the biggest.

17 | 15 | 23 | 36 | 50 | 42 | 2] 11 | 68 | 10
3 13 | 63 | 73 | 53 | 23 | 93 | 43 | 83 | 33
20 [ 100 | 80 | 10 | 920 | 40 0 60 | 30 | 50
4 1 0 8 5 ? 3 2 é /
25 5 15 20 | 35 | 45 | 10 | 50 | 40 | 30
14 | 43 | 53 | &9 | 76 | 98 | 33 | 69 | 52 | 86




Cuir na huimhreach in ord 6n ceann is [0 go dti an ceann is mo.

Put the numbers in order from the smallest to the biggest.

6 8 12 | 18 | 14 4 44 | 88 | 76 | 52
55 | 33 ] 77 | 11 9 /3 | 45 | 99 | 89
44 | 88 | 33 | 99 0 22 | 55 | 11 77 | 66
94 | 84 | 74 | 64 | 54 | 44 | 34 | 24 | 14 4
88 | 56 | 48 | 64 | 32 | /2 | 40 | 24 | 16 | 80
30 | 12 | 27 9 18 | 24 | 21 6 3 33




